

Page 1 of 6

Contract ID: 23474 Counties: HUNTERDON, SOMERSET, WARREN

Letting Date: September 28, 2023 District(s): C4

**Call Order:** 474 **Project(s):** 0078339

Line No / Item ID Item Description		(1) ASPEN LANDSCAPING CONTRACTING, INC.						
Alt Se	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	20,970.00000	20,970.00				
PERFORMANCE BOND AND PAYMENT BOND		DOLL						
0003	153011M	480.000	0.80000	384.00				
TRAINEES		HOUR						
0004	154003P	(1)	200,000.00000	200,000.00				
MOBILIZ	ATION	LS						
0005	158003M	5,000.000	6.85000	34,250.00				
CAUTIO	N FENCE	LF						
0006	158006M	35,000.000	5.10000	178,500.00				
SILT FENCE		LF						
0007	158033M	50.000	245.00000	12,250.00				
INLET FI	LTER TYPE 2, 4' X 4'	U						



Page 2 of 6

Contract ID: 23474 Counties: HUNTERDON, SOMERSET, WARREN

Letting Date: September 28, 2023 District(s): C4

Call Order: 474 Project(s): 0078339

Line No / Item ID Item Description		(1) ASPEN LANDSCAPING CONTRACTING, INC.						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
8000	158084M	100.000	360.00000	36,000.00				
EROSION CONTROL SEDIMENT CY REMOVAL								
0009	159003M	50.000	158.00000	7,900.00				
BREAKA	WAY BARRICADE	U						
0010	159006M	500.000	69.25000	34,625.00				
DRUM		U						
0011	159009M	500.000	25.50000	12,750.00				
TRAFFIC CONE U								
0012	159012M	500.000	18.50000	9,250.00				
CONSTR	UCTION SIGNS	SF						



Page 3 of 6

Contract ID: 23474 Counties: HUNTERDON, SOMERSET, WARREN

Letting Date: September 28, 2023 District(s): C4

**Call Order:** 474 **Project(s):** 0078339

Line No / Item ID Item Description			(1) ASPEN LANDSCAPING CONTRACTING, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0013	159015M	5.000	840.00000	4,200.00				
CONSTR SIGN, 4'	RUCTION IDENTIFICA X 8'	ATION U						
0014	159027M	5.000	4,400.00000	22,000.00				
ARROW	BOARD, 4' X 8'	U						
0015	159030M	5.000	12,100.00000	60,500.00				
PORTAE SIGN	LE VARIABLE MESS	SAGE U						
0016	159108M	5.000	8,500.00000	42,500.00				
	CONTROL TRUCK ED CRASH CUSHION							
0017	161003P	(1)	12,200.00000	12,200.00				
FINAL C	LEANUP	LS						



Page 4 of 6

Contract ID: 23474 Counties: HUNTERDON, SOMERSET, WARREN

Letting Date: September 28, 2023 District(s): C4

Call Order: 474 Project(s): 0078339

Line No / Item ID Item Description			(1) ASPEN LANDSCAPING CONTRACTING, INC.					
Alt Set /	Alt Member (	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	l: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0018	801006M	5,000.000	7.60000	38,000.00				
SELECTIV	E THINNING	SY						
0019	801012M	80,420.000	9.65000	776,053.00				
SELECTIVE CLEARING SY		SY						
0020	802021M	1,100.000	392.00000	431,200.00				
TREE REM	MOVAL, OVER 6" TO R	12" U						
0021	802024M	125.000	650.00000	81,250.00				
TREE REMOVAL, OVER 12" TO 18" U DIAMETER		O 18" U						
0022	802027M	60.000	1,220.00000	73,200.00				
TREE REM	MOVAL, OVER 18" TO R	O 24" U						

Page 5 of 6

Contract ID: 23474 Counties: HUNTERDON, SOMERSET, WARREN

Letting Date: September 28, 2023 District(s): C4

Call Order: 474 Project(s): 0078339

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

Contract Description: MTN Vegetation Safety Management Project, Route I-78 - 2024

Line No / Item ID Item Description		(1) ASPEN LANDSCAPING CONTRACTING, INC.						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>N:</b> 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0023	802030M	35.000	2,400.00000	84,000.00				
TREE REI	MOVAL, OVER 24" R	TO 30" U						
0024	802033M	28.000	3,335.00000	93,380.00				
TREE REI	MOVAL, OVER 30" R	TO 36" U						
0025	802036M	25.000	4,800.00000	120,000.00				
TREE REI	MOVAL, OVER 36" R	U						

**Section Totals:** \$2,385,362.00



Page 6 of 6

Contract ID: 23474

Counties: HUNTERDON, SOMERSET, WARREN

Letting Date: September 28, 2023

District(s): C4

Call Order: 474

Project(s): 0078339

Contract Time: 12/31/24 COMPLETION DATE

Min: Max:

Contract Description: MTN Vegetation Safety Management Project, Route I-78 - 2024

Line No / Item ID Item Description		(1) ASPEN LANDSCAPING CONTRACTING, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	NON-PARTICI	PATING	Cat Alt	Set:	Cat A	It Member:	
0002 152015P	1.000	8,500.00000	8,500.00				
POLLUTION LIABILITY INS	SURANCE DOLL						
Section Totals:			\$8,500.00				

Contract Totals	\$2,393,862.00	
Cost Plus Time Totals	\$2,393,862.00	

() indicates item is bid as Lump Sum



Vendor Ranking Page: 1

Call Order: 474 Contract ID: 23474 Counties: HUNTERDON,

SOMERSET, WARREN

Letting Date: September 28, 2023 10:00 AM District(s): C4

Contract Time: 12/31/24 COMPLETION DATE

Contract Description: MTN Vegetation Safety Management Project, Route I-78 - 2024 Project(s): 0078339

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	ASPEN LANDSCAPING CONTRACTING, INC.	\$2,393,862.00	100.00%
	SAMSON CONCRETE & MASONRY, LLC	Irregular	
	EASTERN LANDSCAPE CONTRACTORS, INC.	Irregular	

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.